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' CHEMISTRY
; - (Skill Enhancement Course ) _
Answer the Questlons from -any one Optlon.

‘ OPTION-A ( Analytical Clinical Bzochemistry )
Paper : CHE-SE-4014

OPTION-B ( Green Methods in Chemzstry )
Paper : CHE- SE—4024

OPTION-C ( Pharmaceutical Chemistry)
Paper .: CHE- SE—4034 - '

. OPTION-D
(Chemistry of Cosmetics and Perfumes )

Paper : CHE- SE-4044 .

OPTION-E ( Pesticide Chemistry) k
Paper : QHE— SE-4054.

OPTION-F (Fuel Chemistry)
Paper : CHE-SE-4064
| ‘Full Marks : 50 |
Time : Two hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
(Analytical Clinical Biochemistry )
Paper : CHE-SE-4014

1. Answer the following questions : 1x4=4
©ETd 2P U [l 3
(@) What is Glycemic Index?
RIS SPIE &2
(b) Na;ne one sulphur contalnmg amino
aci

T A @ GEE @fbes | |

(c) Which part of our body synthesize and
secrete HDL ?

SIS I (P! SR*Z HDL J1Resael S

[Heoael a2
(d) What is Hemostasis ?
(TR0 52
| 2. Answer the following questions in brief:
2x3=6
oaTs 3*‘51""'{@ S Ted frl ¢

(@) What are triglycerides ? What is the

alarming level of trigl
blood ? glycerides in our

mmmﬁvw
o %ﬂm (9%re 3R ReArsi=o
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(b)

(c)

What is the role of Insulin’ hormone
in our body? Which_ part of our body
produces’ this hormone ? -

W AT TR w’ﬂ’a—fﬁa%?*ﬁi@

@O BIeHiZ O3 TN ARY BT I ?

Mention the basic dissimilarities in
structure between DNA and RNA.

5.9 SR SE.G7.9 T Ters LB 5157 (T
TPAIPPE S 41|

Answer the following questions : (any twoj

5x2=10

memg (Rcriznt 7on)

(@)

(b)

What do you mean by Epimer? Is
fructose an ‘epimer of glucose’p Give
examples of three epimeric pairs of
glucose with their individual structure.

1+143=5

Pm e B @i TG TS AR
w @ ey o @9 PN SuiE
fF1Eoq AT 2107E IS Tife |

What is denaturation of protein ? How
it ‘occur? Explain the factors
responsible for it to cause. 1+1+3=5

eiftrm Rigfosad 52 3 @ 9062 21 AR
I FRETE JE. o4l |
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What are nucleosides and nucleotides ?

e Give an example of each with their | Mention the seven classes of ENZymes
structures. 2%x2=5 and briefly describe the type of reaction
SSEIEIRT Wi RO REBIRTE &2 droE | they catalyse. Give suitable example of
s ch foes 510 (0o Gz 1 | each class: 1+3+6=10

d) Name the two fundamental ‘building S PR A mw BEY T

( blocks’ of lipids. Write their structures. St i3 el s

Give an example of lipids carrying those

ilding blocks along with its structure.
building g S

T T (AT IS T Wil i |

7 (b) Discuss in detai] about classification
Gifele I EEel oML ot chfere Rl of Protein by giving suitable examples
2% T % S 91 | FiRe sfomeTiR ik | of each class. L
12 RifFeR gz 2 @i ffere <1 cvearsia GRS TRz (T 2o cefiRerems B
o F1Res 1o IS Twiesel mife &l | RemeIc SteEmat w4 |
Answer any three of the following (¢).  Explain’ “Thescentral dogma of
questions : . : 10x3=30 molecular genetics.”
W ﬁm g 3 €« 4} ]
weid el forbr e SN & e crern Toam” &2 i
(a) What is enzyme ? . i co
TR ﬁﬁ,? 7 \ t | (d) What is Glycolysis ? Explain brieﬂy the
Define the following terms : various steps involved in glycolysis.
UL W et ozl ¢ Write down the overall reaction of

(i) Isoenzyme (Wﬁﬁ’ﬂﬂﬂﬁi{) glycolysis. : )
(i) Apoenzyme (L‘l"f’@:mn?sr) AR =R 5 2 25 ez wpore v e

(iti) Holoenzyme Egitonich))

SPTR I T | 22 e1i2fees Al R,

IGE
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(e) Descnbe how human blood is classified . . OPTION-'B '

A according to-the ABO system. How the ( Green Methods in Chemistry)
donor-acceptor compatlblhty is - 1
determined based upon this’ S ,, Paper CHE- SE—4024
t cla381ficat10n'> Ex lam ' ,
P L Answer the followmg questlons 1x4=4
'ABOWFWWWW(.—WM- N T EPPRRS TeT 918
TR 11 2R wors Rofy o oo L (@). Fill in the blank:
. mma@mmm@wmﬁcﬁ N e an
W I - o S | AT O A B g o
“(f) "~ Write short ’ notes on: - oux4=10 . A . % Atom ecopomy = - X100
. . . N I . . ) o ¢ C . : . . *
| sqcmsrﬁvn o _ AW‘:IW%UW—_'_-_.__‘HOQ

T . (b): The full form of CFCis ____ . -
.~ . _ (lel in the blank) -

0 St‘.’“@“@ of prdtein ;
e
() HDLand LDL -
| '@%%aamaa%qa
(iti) Blood blhrubln

'CFC awﬁma’a
' (e/fa‘?h?wrw)

(c) Narne the startmg material used in the
: green synthes1s of paracetamol

mﬁﬁ@ﬁ:{ | | RIS -ﬁzﬂwﬁ«m%{'ﬂn
iv) Mechanism of enzyme action o '~ (d) Minamata disease was found as
GRISR N A S | | poisoning. ~ (Fill in the blank)
o | L Pewbam ﬁzﬂ"ma g e | |
‘. | | | | (T 1% 579 ) |
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2. Answer the following questions : 2x3=6
o TR Ted 1 8
(a) What is called ‘percentage yield’ ? Above

(b)

(c)

3. Answer any two questions:

which percentage, a particular reaction
is considered to have a good ‘percentage

yield’ ?
Aol TRAWT DG (@2 I *Twpa] sl
el <O e7i9w 2ifHee1 ol (e Rferae
©IeT MO G’ FAORT Rifer 3F o1
34 22?2

Define Régioselectivity. ‘Give example.
@b rErebieba Hi@_ﬁ"ﬁ!%‘:{ |

What do you mean.by green solvents ?
Give example.

Fiow Tiks 36T & o2 Twiset

9%2=10

o 2T R 7 Ve i

(@)

What are the goals of green chemistry ?

Mention the obstacles in pursuit of the
goals in green chemistry.

CIST PR TR & R Give i
THPTR SRR (T A IR Tz 41 |
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(b) Write a note on green synthesis of

(c)

(d)

ibuprofen with chemical reactions.

IR R[ierTE SiggerTT m@wm@ﬁ
SIS GBI (GBIt fo7r |

Mention with example about the ultra-
sound-assisted chemical reaction.
Sfoxw 2itasE aE Teae Wﬁ?ﬁ ISITRIIES
R Teme 541

Write a note on designing a green
synthesis.

FICS A GO 7 AFOTIT SHATS G
oIt fo7= |

Answer any three questions : 10x3=30
Riceiar fofaor =& Teq <5 8
(@) Write the principles of green chemistry.

Write suitable examples of any four

principles. 6+4=10
(TEE AR SAAMpE B | Rzt s1Rs
oA Toige Tigadl |
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OPTION-C
. {Pharmacetitical Chemistry)
Paper CHE-SE-4034

Choose the 'correet option: ' 1x4=4
% TE! e =1 8 R B
(@) Which of the followmg statements best'

descnbes a lead compoﬁnd'P

| wmmﬁe@%’maﬁ
,asﬁzvz? o

(i) A’ compound that. contams the
element lead

vﬁicﬁawcﬁﬁ

‘, (i) A compound. from the research )

laboratory that is chosen to go

forward for prechmcal and clinical -

trials

oAl ~i ISl ofal (ot ot o R
B ﬁﬁsﬁmmﬁsﬁmmmwm
AT AR ERE W

(i) A molecule that -shows some
activity or property of interest and
serves as the starting point for the
development of a drug -

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 12

(b)

A Bt 5 Rew it et 4t ol
| m@am@a«ﬁwewﬁaﬁﬁ
fismwm

(ip) The first compound of a structural

class. of compounds to reach the
- market

TCITS (o B eﬁerﬁsi— T =2

‘Which of the followmg terms is used to

describe a drug that has the same effect

on a- receptor as the endogenous

chermcal messenger ?

‘ﬁ%cm@wwﬁaw ﬁsmf*m
-WW"N’ '

(i) Agonist

COC

.(ii)k ‘A’ntagonist'

o aGeRE

(iii) Partial agonist
iR Qo

(iv) InvErse agonist

oK @arg

3(Sem-4/CBCS CHE SE1/2/3/4/5/6/6 13 . Contd.



(c) Which of the _following,s’c_atehients best
describes retrosynthesis ?
o GPIRCL %%-fca @EW« 'ﬂ@?@ﬂ 4
- Jfe=e

- )

R (i)

~The reaction cond1t10ns required |
to convert the product of a reaction

back to the -original starting
matenals

Retet s Rz Syl

A - strategy used to de31gn a’
synthesis of a target molecule by.
working back from the target to.
, 31mp1e startmg materials '

Wwwﬁ@nﬁa%@ﬁmaﬁ

,szﬂm‘ﬁ%@@mw

i

The design of a synthetic scheme
using cheap, traditional reagents,
rather than expensive modern
reagents

RIS Reoes g o Fom o1

orgfo

3 (Sem-4/CBCS) CHE B Y3/4/506/6 14

.

()

@)

(fii)

'The design of reaction condltlons
such that an equilibrium reaction ’
is pushed towards the products

rather than theé starting materials

_aﬁﬂmﬁwmm
'ﬁﬁ@@t@mﬁam@%ﬁm@ '

‘Which enzyme -is used to hydrolyse
“starc¢h’. to” maltose to manufacture o
ethanol by fermentation ?

wmﬁﬁwﬁaﬁ’eﬁaﬂﬁrﬁﬁm
’mﬁ@mﬂmzﬁﬁa’m mmw
A"

0.

Dias_tése S
.Alpﬁa-émyilase' |
SRR R

Lipaise

B i

' (iv)

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 15

Beta~amyiase

. ﬁm«‘mﬁmﬁ
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Answer the followmg quest10ns . 2x3=6

et Al e Tew fat e
(a) Define chemotherapeutic ‘index and

(b}

()

therapeutic index.

m’mﬁmmmwﬁmm'
g fmAmn

What do - you mean by pharmacokinetic

phase and pharmacodynamic phase ?

Wﬁmmm’mﬂﬁam'

o= o gme

Write down the chem1cal structure of
L-ascorbic acid. Mention its importance

' for human beings.-

.L-ﬂwﬁ@@ﬁwmﬁemmimw :

Wewwzmn
Answer any two questlons from the' >3
following: 5x2=10
. ooR Rzl ¥h 2s Ued i 3
(@) () What are NSAIDs? Give an
: example. = 9
RS R @ e ﬁzm

(i) Explain the meamng of the term |
‘prodrug’ using an example. 3

THIPR ‘2'glsl WW(W 11|
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(b) Write the chemlcal structure of,v.

ibuprofen and identify the chiral ceritre.
Which  isomer of ibuprofen: is
found to be active as a drug? Write
the steps involved in the synthesis of
ibuprofen ? L 1+1+3=5

' riRgeE AR 15 R A (o B
3| AT IR SRR 87y et

A 7 SHRIE ﬂmq@@ﬂ%“ﬁﬁﬁmﬂ{i
CmERw

() (z) .Name one spec1es each from the -

following microorganism class
which is capable of fermenting
sugar to citric acid: ) 1.5 -

‘Yeas-t, Fungi and Bacteria o

O TG I ot it emifeR
- o R e e IR oRES afbe
ool IR M@E

(ii) Name the three processes adopted
for the commercial production of

citric acid. 15
oRES «fbes A Teoir AR AT
I formor e w frat

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G - 17 . Contd.



- (iii) Write down two commerc1a1 uses

of citric acid ? : 2

vl aber @WWMl

(d) Write briefly. about the production of
“chloromycetin by fermentation. . S

ﬁaﬂa@ﬁﬂt—ﬁ’a’ﬂﬁwﬁa@wﬁmm
%‘zﬂl ’

4. Answer any three questlons from the

following : S 10x3=30

o A (O 2 e f

(a) () What minimum reqmrements
' “must an antibiotic fulfill? Write
- the chemical structure of
chloramphenicol ? Identify the -
chiral centre(s). What .
mlcroorganlsm produces it ?

2+1+1+1=5

_aﬁaﬁ%aﬁi%ﬁsmmﬁm@

oR9 IR FACH? FAMTNFE IS |

a1 fordt | I (g (PR e =1 |
& SIERR WS Beolq FE?2

(i) What are sulfa drugs? Write the
chemical structure of sulfacetamide ?
Write the name of two bacterial
species against which it is active.
Write the reactions involved in the

- synthesis of sulfacetamide.

1+1+1+2=5"

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 18 .

'
L
! E
A 1]
!

)

()

i)

e o QTSR TR

off forat | R 01 RrgRe oo RAa
Wiﬂ'ﬁmmlmﬁm

SRR s s Riempg Bl

What is HIV 7 ? What is AIDS ? Write _

the name and wnte ‘the chemical -
~structure of an anti-AIDS drug.
Describe the mode of action of the -

drug o 1+1+1+2 S '

gvaisre e q?@i ESIRC S «ﬂi@i

M?r@a«m%ﬂwamﬂﬁﬁﬁ

,mla?@a«w«qa‘ﬁrw:

What are soponﬁc agents ? Name
. two- su}astances which may cause
insomnia. Which drug was referred

‘to as the king of barbiturates ?

Name an antianxiety drug and
point out its other therapeutic

- benefits. 1+1+1+2=5

QTR s 2 S R <R o
751 s AW B IO envs
RGeS ot 3 o Cafeet 2 ot e

iR 83w A F e S0
ivers 2w ToRiornz TEr 1
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© @

What is a vitamin ? Give one

example of each water-soluble and

water-insoluble vitamin. Name the
different structural components
present in vitamin B12. Write the
name of two bacterial strains used

- for industrial production of vitamin
B12 by fermentation. Write the

name of a disease that occurs due
to the deﬁmency of vitamin B12.
1+1+1+1+1=5

%mﬁaﬁvmﬁvﬁg—mmﬁ—'

TR B bl Swmaa fmn

- forfim Ryw 3! R sirefsre Betmim

- (i)

T | R R ROORR Rs s St

%QWWW@TWQHW
Wﬁwl%ﬁﬁaﬁﬁaw G <5

@R A R

In the industrial prepara*tlon of
ethanol by fermentation—

g 7l WNeR S To—

(A) whatis the Starting material
and what percentage of sugar

does’it contain ? 2
- RS B um R ﬁssnw oI
. W A

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 20

—

@ @

(B) name two microorganisms
that - can carry out the
fermentatron 1

ﬁ?ﬁﬂ%ﬁawﬁw@«mml

‘(C). what is the optlmum pH

. range for the process'-" 1

aﬁmmmwaasﬂpﬂﬂﬁw"
- e

- (D) why is addition of oxygen:

necessary although the process
is' anaerobic ? _ 1 A
W uﬂmlﬁas fcm w@m
el T R o

Write the structure activity
relat1onsh1p (SAR) of pemcﬂhn

R analogues 5

(1)

:cvlﬁﬁﬁwmmammﬂwé'

(9=9=IR) foan

What is leprosy ? Write thé name
and structure of an anti-leprosy

“drug and propose a synthesis for it.

1+1+3=5"

3 (Sem-4/CBCS) CHE SE1/2/3/4/3/6/¢ 21 . Contd. . .



T G Ror 38 I AR ot S
A AR ofo, T IR O e oI

fen

Write the structure of anﬁvifal
drug acyclovir and outline its mode
of action. - - 1+4=5
ASelee $3 b TRas 15 et v
FAR TSI R R 530 etioe 1
What are benzodiazepines ? What
is the trade name of the drug

- diazepain ? Propose a synthetic

€0
)
06

vpathway for drug diazepam.

1+1+3=5

'-a$w§wﬂ3ﬁ§ﬁ$if$? AN S
IFEE A e RiFrnz ver ok
| I S Bt e e |

1 '..Dr‘aw . the

involved in -the synthesis of

" cephalosporin C by fermentation.

Mention one advantage and one

disadvantage of 1st generation

cephalosporins over penicillins.
1+1+4+2=8

3 (sem-4/CBCS) CHE SE/2/314/5/6/G 22

_ - structure of
cephalosporin C. Name the two .
heterocyclic rings present in its

- structure. Mention the steps

)

aﬁﬂa*?ﬂ3ﬂ~ﬁw'ﬂtﬂ‘ﬂéﬁiaﬁm|§§H -

3 (Sem~4/CBCS) CHE SE 1/2/3/4/5/6/G 23

s9Te Toif¥re Al P @HIRES R
i e fww IR cEe=RT
IR TS TG AR e 1 |
RS > AT TR bl -

R O <O SR TR w0
Draw the structure of vitamin B,.
What is its function? - = 2.

IR R o157 e A WA IR

- Contd. , :



OPTION—D

(Chemtstr_y of Cosmetics and Perﬁ;mes ) |

Paper : CHE-SE-4044

-1: Answer the following questions from below :

1x4=4

Tﬁmmwm

,’ i whlch of the followmg chemicals is

' used as ﬂavounng agent ?

WW@W cﬁﬂaﬁﬁwasfimq
.WW@" |

(a) Acetonyl aCet4oneA
gz oSt
(b) Oxybeflzene :
| (CJ.' Tii;anium .oxide
(d) Octrizole

wige s

3 (Sem-4/chs; CHE SE 1/2/3/4/5/6/G 24

(i) Hydroaicoholic solution includes

PRy e W aRY

(@) nail polish remover
| Gﬁ?{ﬂfﬁﬁ‘mﬁﬂ§$ :
. (b) aftersave o

| B

" (@ hair oil

‘(c‘i)A bath oﬂ

~ alcuRl (oS

(@) Oil in water emulsions are used in

AINTS (o iamfm SEE =

(a) ha1r conditioner '
ks R

» (b) éun screen.
| oF B

(c) diaper rash cream
TR (@) FS

(d) vitamihs

. Teofim Rt

3 {Sem-4/CBCS) CHE SE 1[2[3]4[5[6/0 25
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.

(iv) Body -odour develops as a result of
secretion from -

.memﬁm%mmiﬁ .

SR 2
(@ skin
(b) ml,tecle
o
(e) . apocrine gland -
e e
'}(dy eweat
2. Answer the following questions from below :
| - - | 2x3=6
(i) ~Write any four functions of cosmetics,

3 {Sem-4/CBCS) CHE SE 1/2/34f5/6/G 26

3.

(i)

Al

Write two side effects of the use of haxr |
dye.

[T T4 T Zﬁﬁﬂ‘ﬂﬁm'mw' |

(iii)

Write two dlfferences of talcom powder' :
and face powder.

mﬁmwwmm@ww@

: 9{1%7 fran

Answer any two quesuons from the followmg

wmmﬁmmmm
o .

. ointments ? Write one advantage and

" 5x2=10

What are the ideal chractenstlcs of

- .one. d1sadvantage of ointment. 3+2=5

WWWWﬁWW@Iﬁﬁm |

. BT SRR T

:What are the main - mgredlants of cold '

cream ? Write briefly about the

 preparation of cold créam. 2+3=5 :

.~ a’%aﬂmqmﬁmﬁﬁ? FT FN

(iti)

RSFIR R v B

What is antiperspirant ? How they act ?

: ‘ S
AFBoNR IS et Bl wr itna TR
T IR

3(Sem-4(CBCS| CHE SE L/203/4/5(6/6 27 . - .- Contd.



(iv) What is suntan lotion ? Mentibn three
- uses of suntan lotion. - - 2+3=5

smaﬁ’@ﬁs?imé%ﬁm‘w%‘cmw|

Answer any three questions’ from the
following : . 10x3=30

Tﬁmmﬁmwﬁ%ﬁmm

‘() Explain the term’ cosmetlcs What are
" the various categorles to clasmfy

cosinetics ? 2+8=10 '

o< I R e Za mﬁﬁﬁwﬁqaﬁﬁ.m |

EFPTIR I

(i) " Write two 1mportances of each one of
. the. folIOng S 2x5=10

O, AT Wmm%zmw,-

(@) Civetone
pfesa
" (b) Eucalyptus oil
(c). - Rose oil
G (o
(d). Sandalwood oil -
(GUSFAOT (e
(e) ‘Eugenol

Zo e

3 (Sem-4/CBCS) CHE' SE 1/2/3/4/5/6/G 28

(lll) Give the method of preparatlon of
shampoo. How can you. d1fferent1ate‘

between hair remover and nail pohsh‘ '
5+5=10 -

remover ? | '
[ oS Sl e ot | g S
‘ ,wazwqﬁswﬁﬂﬁmwvn@%ﬁw

~ (iv) What are the best sources of geraniol ?

What method is adopted for its

'extractlon"" DlSCLlSS 1ts uses.
t 2+2+2 6

_f&wﬁwﬁaﬁﬁﬁmﬁaﬂtﬁﬁs?W~

wIZF AR B [ 1w ST 9 e e
_WWWI »

. .erte the two cosmetic uses of each
IR . 2+2=4

" (a) -Oil in water emulsion
(b) Water iﬁ oil emulsioﬁ
(@) S (o e
(b) (ST S{i, aiﬁi‘timw TP P
IR foran|
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(y) Write in short about the following : OPTION-E

5+5=10 l | ; ( Pesticide Chemistry)
ot S 91 Rem B0 Bl 3 | e |
) c Ao T fera 2 | : Paper ; CHE-SE-4054-
a osmetic ' : :
: o Sy : 1. Answer the following questions : 1x4=4
?i\al
(b) Advanta weTe fat eaRe Oe faall ¢
ges : : | :
colouring a/contr.lbutl-ons of - (a) Write the name of a plant which is used
'S agents in cosmetics . . -
preparation | as insecticide.
eI AFSTITS JRzTe I TR : SR Bl I92E 91 Gy Bfgrs i |
?_[ﬁiﬂl\g [ = (b) What is the trade name of Benzene
(i) (@) Write briefly about the actions of Hexachloride (BHC) ?
‘ gﬁfvg'geaggéa\rfnamshing cream and @ 212 (BHC) ey 1w 62
1 2%x3=6 ! )
75 GIE, (S S e = - (c) Define the term Rodenticide.
FIL2AART FACH e foralt | CFo5IRET el i |
(b) - Write briefly about hair waving and & R (d) What is Bordeaux mixture ?
hair straightening agents. 4 ‘ )\ TG et R 2
il oul % b @i SRt 929 )
@R TEE [ Fe) : 2. Answer thg following questions : 2x3=6
©eTS firal ehTRe Tes i ¢ ‘
(@@ What is a bio-pesticide ? Give an
example. ' |
(T oI 5 2 51 Swzaet T |
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() To which chemical class of insecticides
does DDT belong ? Name another
insecticide that belongs to that same
class.

BRm mﬂﬁlaﬁmﬁ?ﬁ mﬁaﬁ%ﬂmﬁw

m?mmﬁamwaﬁ%mm |

Gk R
(c) Draw the structure and IUPAC name of
alachlor.

qmmmwmwmmuﬁgeﬁq
$WM|

3. Answer the followmg questlons (any two)
: S5x2=10

AL ﬁfﬂ epapTRd T i ¢ (ﬁm )
(a) . Write a short note on Malathion.
TR @o® «f5 5 I a1

(b) Write down the chemical structure of
' gammaxene. It is also known as HCH,
" elaborate on this acronym. Mention two

uses of it. 142+2=5

AT IIRRS o167 o1t | 331 HCH 3fere -

PRI 2T, G2 FEHES AR 8o Rxmeica ol |
B 707 R B
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4.

c)

-

Draw the chemical = structure of
butachlor. To which chemical class’

~ does this insecticide belong ? Briefly

deseribe the chemical synthesis of
butachlor. , A 1+1+3—5

WWWWW\MWM%W

o TR TR oo o TR

(@

Feoerer R bee 3 o |

What are natural and synthetlc
pesticides ? Give examples of each class.
Mention two advantages of natural '
pest101des over synthetlc pest1c1des _
L 2+142=5

WW@W%?W@% |
QWWQW|WWW

"WﬁaﬁmWWI

Answer the following questlons (any three)

10x3= 30

wﬁm@ﬂ@mwm (et 5

(@)

Give an example of Quinone pesticide.

- Draw its structure and mention IUPAC |

name. Discuss briefly the synthesis,
propertles and uses of it. 1+2+7=10
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.

i (b)
| b
I

I @
. ,

@,

| | :
‘ li ()

mewqﬁmlwmwm
WWIUPACWWWIW&@% of
Wwﬁmmwwu

Discuss the merits and demerlts of _
- pesticides.

FoPIFE o mww |
Discuss briefly the synthesm uses and
harmful effects of DDT.

o Ba e, wmmmﬁm

B SIS T |

Write briefly on the clasmflcatlon of

pesticides (based on the target organism)
citing suitable examiples of each class.

- eifUH (T Soige St i S
"mﬁﬁwﬁm(ﬁﬁ@%«ew%@ﬁ)

S o |

(i) Whatis Folidol ? Draw its chemical
structure. ' 2

ﬁW%?WWWWﬁW|

(i) Outline two major distinctive
features of organophosphates from

| - other insecticide classes. 2
R S G R ST TR
ﬁa&mwﬁa hﬁ@ﬁﬁmﬁw |
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(uz) What are agncultural pestlc1des ?; ',

Mention the name and uses of two '

. agricultural pesticides. ~ 2+4=6

- JREe zﬁﬁmwm 1%? @fﬁ‘lqrﬁﬁw' |
(i) What are carbainates ? Propose one
" method of synthesis for both -
- carbofuran and carbaryl. Mention

two major disadvantages of these
carbamate 1nsect101des 1+4+2 7

; mmﬁawf%%» wwwawﬁa
- AR AR AR BT ey R

' .‘~1%7<nna§as12ﬁm%ﬁm‘mma zz‘s?efzm o '

miﬁarﬁmﬂwx

() D1scuss the symptoms observedon "

carbofuran p01son1ng - 3

- ﬁmwwwn
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N —— e o e —«’4— B

. Answer the following questlons

were fal emT Sew o ¢

' OPTION-F
( Fuel Chemistiy)
Paper : CHE- SE—4064

.1X4=4 : )

(a) What is.the composition of water gas ?

(b)

()

(@)

Answer the following :
e fRAIERT TeT ot ¢

What do you. mean by. non-renewable ‘} ;

(a)

(b)

(c)

'S (T IPNTNS IS B - .

Write the percentage compositions- of
gases present in CNG.

'CNG'® ¥t CW"TWTW&?‘M|

What is the advantage of al
blended petrol ? COhOI_

e e RES (oG ARt e,

Name one solid lubricant,

b1 CoISY foifBeeTIRTsT I fovat

LY

energy ?
e Wiy < ot B g@p
What is coal-liquifaction ?

A ST B2

What are the dlsadvant
N ages of uses of

CNG IR SRUEIS fBya |
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2x3=6 .

. o

-

3. Answer any two of the followmg questlons
o 5x2=10

wote faiee e ghf erie g ol 8

(a) What do you mean by lubricants ? How .

lubricants are classified? Give

examplés of each class. 1+3+1=5

FifteeTroins I B gl FiveeReR®
R o ot

~'(b) What is Naiah,tha? Write the products
obtained when Naphthas are allowed '
_to undergo steam pyrolysis?. 1+4=5
T WA (2 @FAUT IS AT FoT0

Bests A AMLET T

(c) What are the compos1t10ns -of producer

' gas ? Between producer gas and water

gas which one has more calorific value ?

Why is producer gas used immediately

~ after its production ? What are the
advantages of natural gas?

_ 1+1+142= 5

- SR o A Bt @S o S

TS (TR NGO (PG @R Ty @@

- fSSpR (o1% Beol (RN A SNt &l

' .Waﬁamﬁ?a@m cﬂ@qﬁmﬁsﬁs?

(d) Write the petroleum fractions of the
.products obtained during refining of
crude petroleum. Also write their boiling
ranges and uses of each fraction.

3+2=5
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4.

questions :

(@)

- m

GWﬁRﬁﬁ%scﬂ@aaﬁbﬁiﬁﬁéﬂﬁﬁsﬁeﬁﬁcqmt
(IR ol | (ORI ol iR et
2l ATTFE IS I iR

| -AnSWekr any ‘three of the following

10x3=30

What do you mean by coal gasification ?

o

Write the flowchart of coal gasification -

process. What are the advantages and
disadvantages of coal gasification ?

: 2+4+2+2=10
TR CIRTSE TG 52 376 (IRwe3e17 ol
e TS &R T I (IR R

What is cracking of petroleum ? Write

the products of thermal deCOﬁip_osiﬁon .

| "~ of n-Butane. Draw the flowchart of

Fixed bed -catalytic cracking. Wﬁat are
the advantages of catalytic cracking ?
: 2+2+4+2=10

T oigfemR PR 3 R g 2 Aol Rege

Oiv] B T Gooly (214l BesAmRca vl |

f- R SRR Rexos smief foa 3oi2 forai |
,Gﬂﬁﬁﬁﬁrﬁﬁxﬂaazﬁ&mﬁﬁtﬁ%MI
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e

(@)

(c)

. energy ?

qmm4mmmcmssuﬁwque 39

What are the .functions and

characteristics of lubricants ? What is"

viscosity index and what does. it

indicate ? What are additives in
- lubricants? Name some additives to
. improve the lubrication in oils: .
o 3+3+2+2=10

PiltIRT@IRT I o1 ededs R il
izt sieret e & e ] R Ao
e 2 oifbeTereeT ol IpRe A At QTR
e (BN =R Qe 9l :
What do you mean by renewsble and
non-renewable €nergy sources ? Write

. about solar energy, advantages of using -

solar " energy and also write
disadvaritages of it. What is geothermal

S SRR R | gt = i fe

What is biogas ? Write the compositions

of biogas. What is biomethanation ? |

Write on biodiesel and transesteri-

ﬁcat.ion. reaction as well as flowchart
of biodiese] pProduction. . |

| 2+2+142+142=10

czqhza;

7 4+4+2=10 -
aﬁkﬁvnﬂwnEW$<aaﬁhﬁmvmﬁ;ﬁﬁ;gﬁmﬁiﬁ$.
ﬂﬁﬂ?CﬁFPﬁ@?ﬁﬁmﬁﬁ*m!m¢1jmgﬁ§3?ﬁ@ﬂ.




AR {2 IR IS Frat | 1w Rt
e Awferem Raw il (GoiaRiRfesT |
Rferat Frdt ot I Tereem Beotwem e B
o=
i, Deﬁne'octahc number of a fuel.
How a vehicle select a good quality

fuel for use. 2.
W AW e G IR AR Ol B -

(i) - What are the basic corﬁpositions
' of crude oil? Mention the basic
principle behind its refining

- process. L 2
. wﬁ@mﬁ@mw@z%mmim
ARCNE SR T ©F Tz w1

(iii) How are cloud point and power
point of a lubricant measured ?
, . - . 2+2=4
ﬁwwﬁmﬁﬁmm@ﬁﬂﬁ |

TN (A e w1 =2
 (iv) Write }"'our. short comiments on

‘futqre of Teénewable energy in
India’. '

3 (Sem-4/CBCS) CHE SE L23/45/6/C 40 - 3200



